T.E. SEMV/COMP / COMPUTER NETWORK /CBSGS / 30.11.17

Q. P. Code: 24644

(Time: 3hrs) ( Marks 80)
N.B.: (1) Question No. 1is compulsory . S
(2) Attempt any three questions out of remaining questlans". £l s _ e = £
(3) Make suitable assumptions whenever necessary. < e S e, Yz e «r

i
Q1: a) Explain the need of layered design for cnmmunlcatlnn and netwarklng Cnmpara thr.-;-"OSI

Fis

reference model &TCP/IP. f x;» ' {1[]]"

Q1: b) i) How does the token Bucket Alganthm work'? :' -. = b & 7 (5)
ii) Explain in short dnﬁerent frammg methnds = RCh I (5)

Q2: a) What is IPV4 Protocol ?Explaln the I;:w4 Header forrnat wnh ma‘gram . : . _ (10)
b) Explain sliding window prutucul usmg Gc- Back-—ﬁl ter.hmque:. & . (10)
Q3:a) What are transpurt service pnm:tweﬂ Explam % : el (10)
b) What is congestion cnntroi’-‘ Explaln variﬁus @:mgeafion preventmn policies. (10)
Q4: a) Explain CSMA Protocals Hnw are colhs‘iﬁns ﬁ‘imdle‘dnn CSMMCD (10)

fs

B) What are the-st_e_ps ini.rqlv_ed-l_n imk__s‘_tatg'tjﬁl;tlng ? EK_{JL_’:]IH the contents and requirements (10)

-:if'l._ink.sia.té :p‘:;_cl;i:éts,-; b » B ',;1‘-';; .
Qs: a] 'Expiai'n.with thé- h:e‘Ip'- dféﬁ{;:ahle dfagram TC.F;Er.:o'n ﬁec;tion management and release (10)
b) Wrﬁ'e a prngram fur CJ|IE‘I'I1: senrer appllcatlen using socket programming (TCP) (10)
: QE erte a Short notes Qh thgd:niinwmg -. (20)
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